1 Thermodynamics of the Creagh-Whelan system

1 K
H® T4V = 3 (P2 +1p2) + (2* = 1)" + Az + Bay® + Cay* + py° (1)

The following figures are calculated for k = 2, B = C' = p = 20 (a slightly asymmetric case, for
more details see the lweb site).
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Figure 1: Level density.


http://www.pavelstransky.cz/cw.php?kappa=2&type=asymmetric+%28C%2Bmu%3D40%29&BCmu=20+20+20
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Figure 2: First derivative of the level density.
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Figure 3: Logarithm of the level density.
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Figure 4: Inverse temperature.
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Figure 5: Normalized thermal distribution.
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Figure 6: Normalized thermal distribution.
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